RD SHARMA
Solutions
Class 8 Maths
Chapter 6
Ex 6.2



Q.1: Add the following algebraic expressions:
(i) 3a%b, —4a’b, 9a’b

s 2 3 _6
(i) a8 Fa, —za

(i) 4xy?—7x%y, 12x%y—6xy2, —3x%y + 5xy?

. 3 5 2 2 7 5 5 5
v) —a—=b + = Za——=b+ = = +_b—_
(l)za b SC, 3a Zb ZC, 3a 5} C

11 12 13 11 12 13
—_— + =y + = ——y— S X— —
(v)2Xy 5y 7X, 2y 5X 7Xy

5 3.3 72 1 3.2 5.
3. 35X -‘rTX X+, =X 3X 2

o 7 3_1 2+
(v1)2X 5 X 5

Solution:

(i) To add the like terms, we proceed as follows:
3a%b + (-4ab) + 9a%b
=3a%b —4a’b + 9a%b (Distributive Law)

=8a%

(ii) To add like terms, we proceed as follows:
2,3 6 o
=(5+t3-3)a (Distributive Law)

(iii) To add, we proceed as follows:

(4xy2=7x2y) + (12x2y) + (-6xy2) + (—3x2y + 5xy2)

=4xy?—7x%y + 12x°y—6xy°—3x°y + 5xy?

=4xy2—6xy? + 5xy?—7x%y + 12x2y—3x%y (Collecting like terms)

=3xy? +2x%y (Combining like terms)

(iv) To add, we proceed as follows:
3a-3ph+ 2 247 z Sa+3p=2
(E: 45b+sc)+(3a72b+7zc)-i;(3a;i-2b5—4c)
3 2c+ 251 Lle+2a+2b-2
a 4b-ir5«3-1r3a 2b+zc+3a+2b—4c

2 5, 5,7 5 2 7.5
atzatza 4b—2b+2b+sc+2c ¢

2
3
2
(Collecting like terms)

_ 23 9 53 .. .
= Za Tb +35¢  (Combining like terms)

(v) To add, we proceed as follows:

1 [ENRE no 1. 13
(T + 5y + 70 T (C7y=—5X7xy)

_ 11 12 13 11 12 13
=X T FY X Yo F XXy



11 13 12 11 13 12
= _Xy— = + =y— —Vy + —X——=
2Xy 7Xy 5y 2y 7X 5X

= —Xy— %y— ;—2)( (Combining like terms)

(vi) To add, we proceed as follows:

I3l 4 2 33+ I x+ L 3323
(EX X +3)+(2X +gx X+3)+(2X =X 2)

13 12543 3,72 1,32 5
X=Xt 3+ 53X+ XX+ 1+ 35X 2XZ

73 3.3 1.2 72 3,2 5 5 1
= = + —_x'— = + = 4+ X —X— =X+ =+ =—
X X X X X X X 3 3 2

(Collecting like terms)

=5x° + %Xz— %X (Combining like terms)

Q2) Subtract:

(i) -Sxy from 12xy

(i) 2a” from -7a >

(iii) 2a — b from 3a — 5b

(iv) 2x°—4x? + 3x + 5 from 4x° + x> +x+6
®) 3y’=3y7=5 from 1y* + 37 +y-2
(vi) %x— %y— %z from Zx + %y— 1z

(vii) X2y— %Xy2 + %Xy from %Xzy + %Xyz— %Xy
iii) 2 B b+ Sac from Lbe-ac
Solution:

@) 12xy - (=5xy)

= 12xy + 5xy = 17xy

(i) —7a% — (2a%)

=_7a%—2a%>=-9a>

(iii) (3a — 5b) — (2a—b)
=(3a-5b)-2a+b
=3a-5b-2a+b
=3a—-2a-5b+b=a-4b

(iv) (4x% + x> +x +6)—(2x°—4x% +3x + 5)

=43 + X%+ X+ 62X +4xP—3x-35

(Collecting like terms)

=4x3-2x3 +x2 +4x2 +x-3x + 6-5 (Collecting like terms)

=2x% 4+ 5x%2-2x + 1 (Combining like terms)



® (357 + 2y Hy=2)-(3y7-2y2-5)

1,3, 5,2 2.3,2.2
Y T3y Ty-2-35y°+= Zy +5
= %y3— %y3 + ;yz + %yz +y=2+5 (Collecting like terms)

_éy3 + y2 +y+3 (Combining like terms)

o) (3x+ 3y— 32 (3% 3y-22)
2 3 4 3 5 7
Rk ik D A £
2

X %X + %y + %y— %z + %z (Collecting like terms)

= —%X + %y + % z (Combining like terms)

i) (3x%y + 2xy?= 2xy)- (Py— $xy2 + 2xy)

= 2x2y + 3xy2-Lxy X2y + dxy2- 4
SX%y + SXyl- 2Xy—X%y + 2Xy?- =Xy

%Xzy—xzy + %Xy2 + %xyz— %xy— %Xy (Collecting like terms)

—X y +2 Xy - —Xy (Combining like terms)

(viii) ( bce— —ac)—(—— —bc + —ac)

—3phe—dac—ab 4 Bpe b
—gbc zac 7+3bc =ac

= %bc + %bc— %ac— gac— % (Collecting like terms)
= % be—2ac— % (Combining like terms)

Q3) Take away:

(@) 2x*— 3% +2 + 2x from ———x +3ix++

2
@) 77+ 22+ 2x+ 2 from Z-X- X

(m) — + —y + = y+ L from l— y2

) 5 21 o 3 7 5
(iv) Fac— 7ab + ?bc from Eab— Jac— =be
Solution:

(i) The difference is given by:

X 5,243 1y (642 4434543
(T IX +?X+T)_(?X X +E+3X)

o x* 52,3, 1 6.2,4.3 5 3

=3—3X +5X+4—5X +5X—6—2X

_xX 4.3 52 2,3, 3 15 L
=5t X = 3X =X F sx—5X+ 7% (Collecting like terms)

= x3—2Lx2-Zx— L (Combining like terms)



(ii) The difference is given by:

7 x_ X\ (1534320 x,29
(F=3=FHEXsxryts)

- %_ %‘ S (Collecting like terms)

— —-2-3 | —1-3 2 73
:(T)+( 6J)X+( SJ)X_%

2 3
=—1- STX— 4%— 7% (Combining like terms)

(iii) The difference is given by:

G-Iy + I+ dy+ D

1 5.2 Yy 7,2 1, 1
T3V T TR Y
- %_ %_ %_ %yz_; 2 yT (Collecting like terms)

3
- —é_ %_ 4y y? (Combining like terms)

(iv) The difference is given by:

(3ab— Tac— 2be)-(Z2ac— Zab + 2bc)
_3
= Eab— ac— gbc— sac+ 7ab— §bc

= %ab +3ab-Z Tac— —ac— —bc— lbc (Collecting like terms)

( 1+10)ab+(—21 S)ac+( 54)bC

ab— =i Sac— —bC (Combining like terms)

Q4: Subtract 3x — 4y — 7z from the sum of x — 3y + 2z and —4x + 9y — 11z

Solution:

First add the expressions x — 3y + 2z and —4x + 9y — 11z we get:
(x=3y+2z)+(4x+9y—11z)

=x—-3y+2z—-4x+9y-11z

=x—4x—3y+9y +2z— 11z (Collecting like terms)
=-3x+6y-9z (Combining like terms)

Now, Subtracting the expression 3x — 4y — 7z from the above sum, we get:
(-3x+6y—-9z)—-(3x—4y —7z)

=-3x+6y—9z—-3x+4y+7z

=-3x—-3x+06y +4y—-9z+ 7z (Collecting like terms)
=—6x+ 10y -2z (Combining like terms)

Thus, the answer is —6x + 10y —2z.
Q5) Subtract the sum of 31— 4m — 7n? and 21 + 3m — 4n2 from the sum of 91 + 2m — 3n? and 31 + m + 4nZ,
Solution:

We have to subtract the sum of (31 — 4m — 7n?) and (21 + 3m — 4n?) from the sum of (91 + 2m — 3n?) and (<31 + m + 4n?)

{(91 +2m — 3n%) + (=31 + m + 4n?)} — {(3] —4m — 7n?) + (21 + 3m — 4n?)}



=(91—=31+2m + m—3n?+4n%) — (31 + 21 — 4m + 3m — 7n? — 4n?)

= (6l +3m+n?) —(51—-m—11n?) (Combining like terms inside the parenthesis)
=6l +3m+n’-5+m+11n?

=6l =51 +3m+m+n?+11n? (Collecting like terms)

=1+4m + 12n? (Combining like terms)

Thus, the required solution is 1 +4m + 12n?.
Q6) Subtract the sum 2x —x? + 5 and —4x — 3 + 7x2 from 5.

Solution:

We have to subtract the sum of (2x — x> + 5) and (—4x — 3 + 7x?) from 5.
5—{2x=x2+5)+ (4x -3 +7x%)}

=5-(2x—4x—x*+7x*+5-3)

=5-2x+4x+x2-T7x>-5+3

=5-5+3-2x+4dx+x>-7x (Collecting like terms)
=3+2x—6x2 (Combining like terms)

Thus, the answer is 3 + 2x — 6x2.

Q7) Simplify each of the following:

@) X*=3x+5- 2 (3= 5x+7)

(i) [5—3x + 2y - @x —y)| - Bx - Ty +9)

(i) Sy 3y vy oy gy
@) (37 2y H1D=(3¥=3 + 2y~ (3y=3y7 +2)

w)—La2b2¢c + Lab2e— Labe?— Lcb?a + Leb2a— Le2ab + Lca2b.
3 3 1 3 5 7 g
Solution:

(i) x>=3x + 5— %(3){2— 5x+7)

2 3x2 5x 7
—x23x 4+ 53X 4 x_ 7
X*=3x+5 > >3

2
=x2— 3%— 3x+ STX +5— ; (Collecting like terms)
1-3 .. 2 —3+5 10-7
=( )X+ (==X + (=)
X _x43
2 2 2

Thus, the answer is ——— X + 2

B 2 2 2"
(i) [S=3x+2y—(2x—-y)]|-Bx=Ty +9)
=[5-3x+2y-2x+y]|-(3x-7y+9)
=[5-5x+3y]-(3x=T7y +9)
=5-5x+3y-3x+7y-9
=5-9-5x—-3x+3y+7y=-4-8x+10y

o 1L 2 9 21 1.2 L2 1
(i) = XTy— XY+ Xy— 7YX T yXT + 5Xy
= lz—lxzy + l—lsyxz— %Xyz— 1—14}72X + %Xy + %Xy (Collecting like terms)

= (S Iy + (g + (R xy




=1 x2y— %Xy2 + %Xy (Combining like terms)

I

(V) ($y>— 2y + 1D (Sy=3 +2y*)(2y-2y* +2)

1
3

yi-dy -ty +3-2y2- 2y + 2y2-2

=iy 2yroyi-dy-dy-2y+11+3-2 (Collecting like terms)

=( 1—§+2 )2+ ( —4—71—2 )+ 12

=—2-Ty+12 (Combining like terms)

") —%azbzc + Lab2c— %abcz— tcb?a? + Leb?a— %czab + Lea’b

1

= —% a’bc— %Cbza2 + %abzc + écbza— zabcz— %Czab + %Cazb (Collecting like terms)

=52 212 2+1 2 —7—4 2 1 2
=(T)a b C+(T)ab C+(T)C ab+ gca b

= —%azbzc + %ab2 c— %abcz + %azbc (Combining like terms)



